
Soustraction de Nombres Entiers (H)Utilisez la stratégie d’un nombre entier pour trouver chaque question.(-65) - 99 = 32 - 83 = (-96) - 70 = 
88 - (-50) = 64 - 10 = (-97) - 39 = 
(-27) - 41 = (-33) - 49 = (-25) - (-17) = 
(-79) - 3 = (-18) - (-6) = (-78) - 80 = 
42 - (-84) = (-96) - 79 = (-79) - (-52) = 
92 - 71 = (-32) - 45 = (-8) - 85 = 
21 - 72 = (-61) - (-94) = 88 - 64 = 
(-66) - 14 = (-15) - (-25) = (-48) - (-24) = 
(-51) - (-6) = 85 - (-90) = (-58) - 90 = 
56 - 5 = (-66) - (-88) = 1 - (-40) = 

Mathslibres.com


